· biomass.JMP is a JMP file used to calculate tree biomass.  It follows the procedures outlined in Hahn, J.T., Tree volume and biomass equations for the Lake States. United States Forest Service Research Paper. Vol. NC-250. 1984: United States Forest Service Research Paper, NC-250. 9.  
Coefficients (b0, b1, b2, b3, b4 b5, b6) used for biomass calculations are species-dependent.  The species groups used are as follows:

	species on site
	species group used

	basswood
	basswood

	hemlock
	hemlock

	ironwood
	noncommercial spp.

	sugar maple
	hard maple

	yellow birch
	yellow birch


	
	Basswood
	Ironwood
	Sugar Maple
	Hemlock
	Yellow Birch

	b1
	6.3628
	6.9572
	5.3416
	5.3117
	7.1852

	b2
	0.27859
	.26564
	0.23044
	0.10357
	0.28384

	b3
	1.8677
	1.0000
	1.1529
	1.0000
	1.4417

	b4
	0.49589
	0.48660
	0.54194
	0.68454
	0.38884

	b5
	0.76169
	0.76954
	0.83440
	0.71410
	0.82157

	b6
	0.05841
	0.01618
	0.06372
	0
	.11411




S = site index.  Assumed to be 60 ft. for all species

T = (1.00001 – d/D)

d = top d.o.b. A value of 0.0 gives total height

b – stand basal area.  Assumed to e 72.167 ft2 basal area per acre at Sylvania

 

	Column
	Description

	Tree #
	Tag id of tree

	dbh (cm)
	Tree dbh (cm)

	dbh (in)
	Tree dbh (in)

	spp
	Tree Species

	Basal area (cm2)
	Cross-sectional area (cm2) of bole at breast height

	Basal area  (m2 ha-1)
	Tree basal area (m2) as a fraction of an hectacre

	Basal area  (ft2 a-1)
	Tree basal area (ft) as a fraction of an acre

	Height (ft)


	Tree height (ft) calculated as in: Hahn, J.T., Tree volume and biomass equations for the Lake States. United States Forest Service Research Paper. Vol. NC-250. 1984: United States Forest Service Research Paper, NC-250. 9.

H = 4.5 + b1 *(1-e(-b2D))b3 * Sb4 * Tb5 * Bb6

	Volume (ft3)
	Tree volume (ft3) calculated as in: Hahn, J.T., Tree volume and biomass equations for the Lake States. United States Forest Service Research Paper. Vol. NC-250. 1984: United States Forest Service Research Paper, NC-250. 9

V = b0 + b1*D2H

	Volume (m3)
	Tree volume (m3)

	Stump Volume 
	Volume inside bark of a 1 ft stump (ft3)

Vs = S * D2

	SCF
	Species correction factor.  Calculates correction factor for bark differences.

SCF = (b0 + b1 * D)/100

	Bole bark (lbs)
	Bole bark weight

Bark (lbs) = (gross cubic volume + stump volume) * (1.1646 – SCF) *SCF

	Bole biomass (tons)
	Uses species weight (WT) from Hahn

Bole biomass (tons) = (bark =(gross cubic volume + stump volume) * WT/2000

	Top Biomass
	Weight of top (section above merchantable portion of tree) and limbs

Top biomass (tons) = 0.4545 * (bark + gross volume * WT)/2000

	Total Biomass (tons)
	Sum of bole weight and top weight

	Total Biomass (Mg)
	Biomass in tones (Mg)


